


Agreement with elementary hues (Yes/No decision)

Layout example: agreement with elementary hues
There are four elementary hues on each page:
R, Yellow J (=french Jaune), Green G, and Blug
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
The elementary hues Red R and Green G
should locate on the horizontal axis.
The elementary hues Yellow J and Blue B
should locate on the vertical axis.
This test uses a hue circle with
20 hues.
No. 00 and 10 should be Red R and Green G.
No. 05 and 15 should be Yellow J and Blue B.

Are no. 00, 05, 10, and 15 the four elementary hues R, J, G and B?  underline: Yes/No
Only in case of "No":

Red
B.

lueis
enis
bluei
enis

Elementary Red R is hue step no. (e. g. 00, 01, 19) ........ (neither yellowish nor
Elementary Yellow J is hue step no. (e. g. 05, 04, 06) ........ (neither reddish nor greg
Elementary Green G is hue step no. (e. g. 10, 09, 11) ........ (neither yellowish nor
Elementary Blue B is hue step no. (e. g. 15, 14, 16) ........ (neither reddish nor gre
Result: Of the 4 elementary hues (e.g. three) ......... are at the intended location

Part 1 OE760-3A-030-1



i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE760-3A-030-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Agreement with elementary hues (Yes/No decision)

Layout example: agreement with elementary hues
There are four elementary hues on each page:
R, Yellow J (=french Jaune), Green G, and Blug
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
The elementary hues Red R and Green G
should locate on the horizontal axis.
The elementary hues Yellow J and Blue B
should locate on the vertical axis.
This test uses a hue circle with
20 hues.
No. 00 and 10 should be Red R and Green G.
No. 05 and 15 should be Yellow J and Blue B.

Are no. 00, 05, 10, and 15 the four elementary hues R, J, G and B?  underline: Yes/No
Only in case of "No":

Red
B.

lueis
enis
bluei
enis

Elementary Red R is hue step no. (e. g. 00, 01, 19) ........ (neither yellowish nor
Elementary Yellow J is hue step no. (e. g. 05, 04, 06) ........ (neither reddish nor greg
Elementary Green G is hue step no. (e. g. 10, 09, 11) ........ (neither yellowish nor
Elementary Blue B is hue step no. (e. g. 15, 14, 16) ........ (neither reddish nor gre
Result: Of the 4 elementary hues (e.g. three) ......... are at the intended location
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i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE760-3A-031-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Agreement with elementary hues (Yes/No decision)

Layout example: agreement with elementary hues
There are four elementary hues on each page:
R, Yellow J (=french Jaune), Green G, and Blug

Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.

The elementary hues Red R and Green G
should locate on the horizontal axis.

The elementary hues Yellow J and Blue B
should locate on the vertical axis.

This test uses a hue circle with

20 hues.

No. 00 and 10 should be Red R and Green G.
No. 05 and 15 should be Yellow J and Blue B.

Are no. 00, 05, 10, and 15 the four elementary hues R, J, G and B?  underline: Yes/No
Only in case of "No":

Red
B.

lueis
enis
bluei
enis

Elementary Red R is hue step no. (e. g. 00, 01, 19) ........ (neither yellowish nor
Elementary Yellow J is hue step no. (e. g. 05, 04, 06) ........ (neither reddish nor greg
Elementary Green G is hue step no. (e. g. 10, 09, 11) ........ (neither yellowish nor
Elementary Blue B is hue step no. (e. g. 15, 14, 16) ........ (neither reddish nor gre
Result: Of the 4 elementary hues (e.g. three) ......... are at the intended location
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i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE760-3A-032-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Agreement with elementary hues (Yes/No decision)

Layout example: agreement with elementary hues
There are four elementary hues on each page:
R, Yellow J (=french Jaune), Green G, and Blug
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
The elementary hues Red R and Green G
should locate on the horizontal axis.
The elementary hues Yellow J and Blue B
should locate on the vertical axis.
This test uses a hue circle with
20 hues.
No. 00 and 10 should be Red R and Green G.
No. 05 and 15 should be Yellow J and Blue B.

Are no. 00, 05, 10, and 15 the four elementary hues R, J, G and B?  underline: Yes/No
Only in case of "No":

Red
B.

lueis
enis
bluei
enis

Elementary Red R is hue step no. (e. g. 00, 01, 19) ........ (neither yellowish nor
Elementary Yellow J is hue step no. (e. g. 05, 04, 06) ........ (neither reddish nor greg
Elementary Green G is hue step no. (e. g. 10, 09, 11) ........ (neither yellowish nor
Elementary Blue B is hue step no. (e. g. 15, 14, 16) ........ (neither reddish nor gre
Result: Of the 4 elementary hues (e.g. three) ......... are at the intended location

Part 1 OE760-3A- O
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i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE760-3A-033-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Agreement with elementary hues (Yes/No decision)

Layout example: agreement with elementary hues
There are four elementary hues on each page:
R, Yellow J (=french Jaune), Green G, and Blug

Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.

The elementary hues Red R and Green G
should locate on the horizontal axis.

The elementary hues Yellow J and Blue B
should locate on the vertical axis.

This test uses a hue circle with

20 hues.

No. 00 and 10 should be Red R and Green G.
No. 05 and 15 should be Yellow J and Blue B.

Are no. 00, 05, 10, and 15 the four elementary hues R, J, G and B?  underline: Yes/No
Only in case of "No":

Red
B.

lueis
enis
bluei
enis

Elementary Red R is hue step no. (e. g. 00, 01, 19) ........ (neither yellowish nor
Elementary Yellow J is hue step no. (e. g. 05, 04, 06) ........ (neither reddish nor greg
Elementary Green G is hue step no. (e. g. 10, 09, 11) ........ (neither yellowish nor
Elementary Blue B is hue step no. (e. g. 15, 14, 16) ........ (neither reddish nor gre
Result: Of the 4 elementary hues (e.g. three) ......... are at the intended location

Part 1 OE760-3A- O
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i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE760-3A-034-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Agreement with elementary hues (Yes/No decision)

Layout example: agreement with elementary hues
There are four elementary hues on each page:
R, Yellow J (=french Jaune), Green G, and Blug
Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.
The elementary hues Red R and Green G
should locate on the horizontal axis.
The elementary hues Yellow J and Blue B
should locate on the vertical axis.
This test uses a hue circle with
20 hues.
No. 00 and 10 should be Red R and Green G.
No. 05 and 15 should be Yellow J and Blue B.

Are no. 00, 05, 10, and 15 the four elementary hues R, J, G and B?  underline: Yes/No
Only in case of "No":

Red
B.

lueis
enis
bluei
enis

Elementary Red R is hue step no. (e. g. 00, 01, 19) ........ (neither yellowish nor
Elementary Yellow J is hue step no. (e. g. 05, 04, 06) ........ (neither reddish nor greg
Elementary Green G is hue step no. (e. g. 10, 09, 11) ........ (neither yellowish nor
Elementary Blue B is hue step no. (e. g. 15, 14, 16) ........ (neither reddish nor gre
Result: Of the 4 elementary hues (e.g. three) ......... are at the intended location

Part 1 OE760-3A- O
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i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE760-3A-035-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Agreement with elementary hues (Yes/No decision)

Layout example: agreement with elementary hues
There are four elementary hues on each page:
R, Yellow J (=french Jaune), Green G, and Blug

Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.

The elementary hues Red R and Green G
should locate on the horizontal axis.

The elementary hues Yellow J and Blue B
should locate on the vertical axis.

This test uses a hue circle with

20 hues.

No. 00 and 10 should be Red R and Green G.
No. 05 and 15 should be Yellow J and Blue B.

Are no. 00, 05, 10, and 15 the four elementary hues R, J, G and B?  underline: Yes/No
Only in case of "No":

Red
B.

lueis
enis
bluei
enis

Elementary Red R is hue step no. (e. g. 00, 01, 19) ........ (neither yellowish nor
Elementary Yellow J is hue step no. (e. g. 05, 04, 06) ........ (neither reddish nor greg
Elementary Green G is hue step no. (e. g. 10, 09, 11) ........ (neither yellowish nor
Elementary Blue B is hue step no. (e. g. 15, 14, 16) ........ (neither reddish nor gre
Result: Of the 4 elementary hues (e.g. three) ......... are at the intended location

Part 1 OE760-3A- O
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i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE760-3A-036-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Agreement with elementary hues (Yes/No decision)

Layout example: agreement with elementary hues
There are four elementary hues on each page:
R, Yellow J (=french Jaune), Green G, and Blug

Input data 1 0 0 should produce Red R.
Input data 0 1 0 should produce Green G.
Input data 0 0 1 should produce Blue B.
Input data 1 1 0 should produce Yellow J.

The elementary hues Red R and Green G
should locate on the horizontal axis.

The elementary hues Yellow J and Blue B
should locate on the vertical axis.

This test uses a hue circle with

20 hues.

No. 00 and 10 should be Red R and Green G.
No. 05 and 15 should be Yellow J and Blue B.

Are no. 00, 05, 10, and 15 the four elementary hues R, J, G and B?  underline: Yes/No
Only in case of "No":

Red
B.

lueis
enis
bluei
enis

Elementary Red R is hue step no. (e. g. 00, 01, 19) ........ (neither yellowish nor
Elementary Yellow J is hue step no. (e. g. 05, 04, 06) ........ (neither reddish nor greg
Elementary Green G is hue step no. (e. g. 10, 09, 11) ........ (neither yellowish nor
Elementary Blue B is hue step no. (e. g. 15, 14, 16) ........ (neither reddish nor gre
Result: Of the 4 elementary hues (e.g. three) ......... are at the intended location

Part 1 OE760-3A- O
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i LAB*ref

1 00
2 6.36
31272
419.08
525.44
6 318
7 38.16
8 44.52
9 50.89
10 57.25
11 63.61
12 69.97
13 76.33
14 82.69
15 89.05
16 95.41
17 00
18 23.85
19 47.71
20 71.56
21 9541

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

I*out  LAB*out LAB*outic-ref  AE* Start output S1

0.0 00 00 00 00 00
0.07 636 00 00 00 00
013 1272 00 00 00 00
02 1908 00 0.0 00 00
027 2544 00 00 00 00
033 318 00 00 00 00
04 3816 00 00 00 00
047 4452 00 00 00 00
053 5089 00 0.0 00 00
06 5725 00 00 00 00
067 6361 00 00 00 00
073 6997 00 00 00 00
08 7633 00 00 00 00
087 8269 00 0.0 00 00
093 89.05 00 0.0 00 00
10 9541 00 00 00 00
0.0 00 00 00 00 00
025 238 00 00 00 00
05 4771 00 00 00 00
075 7156 00 0.0 00 00
10 9541 00 00 00 00
Mean colour reproduction index:

00 o001 Specification accordingto
00 o001 ISO/IEC 15775 Annex G
00 oo01 and DIN 33866-1 Annex G
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
00 001
0.0 001
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (16 steps)
0.0 001 AE*cigLag= 0.0
0.0 001
0.0 001
0.0 001
0.0 0.01 Mean lightnessdifference (5 steps)
0.0 001 AL*cigLag= 0.0
R¥abm= 100

OE760-3A-037-2: File: Measure unknown; Device: Device unknown; Date: Date unknown




